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COMMERCE
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(Cost Accounting)

Full Marks : 80

Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed ;
1x10=10

1%^ s .

(a) Cost accounting is a tool used by
management for .

(Fill in the blank with appropriate word)

_^5rt%Tli

^

Contd.



(b) Aggregate of direct costs is referred to
as cost.

(Fill in the blank with appropriate word)

Tfsfci I
^

(c) The difference between attendance time
and work time is known as •

xsn^ 7|^T?R "sri^

^ ̂ 1

(i) motion and rating

' (ii) time and work

7f5f?i ̂ 5{Ha

(Hi) motion and time

^BTRs

(iv) job and work

FRsR 'BfRi

(Select the correct answer)
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(d) Abnormal loss of material is charged

to costing Profit and Loss Account.

(State whether the statement is true or

false)

CsTtWR ^ ̂ I

^ wm f^)

(e) Idle time arises only when workers are

paid on basis of wages payments.

(Fill in the blank with appropriate word)

^

(f) Variable cost per unit remains constant.

(State whether the statement is true or

false)

^ 2lt% I

(g) Contract costing is also known as

^sR[ '?n?i

(i) process costing
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(ii) terminal costing

(Hi) job costing

(iv) batch costing

(Select the correct answer)

(h) In job costing, the cost of an incomplete

job is termed as .

^5pp=!^«f

(Fill in the blank with appropriate word)

^

(i) Overtime work is to be paid for at

_____ the normal rate.

(Fill in the blank with appropriate word)
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(j) What is notional profit ?

2. Answer the following questions : 2x5=10

1^Plt §

(a) What is unit cost?

(b) Write two benefits of time and motion

study.

TpBi ̂  ̂ ^ 1%^ I

(c) What is meant by senii-variable

overhead ?

^ "STfCf^ ̂  ?

(d) Write two features of contract costing.

(e) State the meaning of overtime.

•yrsjiH ^r«iT I
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3. Answer any four of the following questions ;

5x4=20

wfs ?

(a) Mention five benefits of cost accounting.

411 ̂ "4454^ 4^^ ̂411^411

(b) From the following information, prepare
a cost sheet showing cost per unit and
profit for the month of Januaiy, 2024 :

Wd %rf 441, C4f54 ̂ 44t¥T 411

^  2024 ^ ̂̂4 4^ ̂44

431^ 4541 ?

Raw materials consumed f 80,000

C#1 414^

Direct wages f 48,000

Machine hour worked 8,000 hours
11% ̂  Tfsr?! •

Machine hour rate 4 per hour

1% 451 1114 4]1

Office overhead 10% of works cost

45tltH '^4% 4]1

Selling overhead per unit ? 1-5

4J1 4f% C4f55c
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Units produced 4,000 units

Units sold 3,600 units @ f 50 each

(c) Following information, relating to a type

of raw material, is available: 3+2=5

'srI^)vo 2

Annual demand

Unit cost

'^'5^'5'IFR 4T?I

6400 units

?=6

Carrying cost 25% of unit cost

■51^ 4I?l

Procurement cost ? 75 per order
4]?I

Calculate EOQ and number of orders
per annum.

"  EOQ
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(d) Explain briefly the needs of labour cost

control.

(e) Write yiue features of overhead cost.

(f) Write five differences between job
costing and contract costing.

<p4l^fep ̂'S.'stfPR ̂  'SiHs

^rfsR fpit I

4. Answer any four of the following questions :

10x4=40

Ws %JT £f?R:41^ f^C<f>ICdt btRGH 1%^ S

(a) Explain the factors to be considered

for installation of a costing system.

^  RwWT 4m

4TNjt 4m i

(b) Explain 'maximum level', 'minimum

level' and 're-ordering level' of materials,
stock maintained in an organisation.

2fl%^n44 iJ»%y)<M®l4
'4<RH5< ̂ 'mi4»''5j^-3F?I4^'7i^^-^^^^
4mi
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(c) North-East Manufacturing Company uses
rubber, whieh is purchased according to
requirement, from the market. Following
purchases and issues were made during
the month of March, 2024 :

^  ̂ ̂ 1 2024

"srf^ ^ s

March 1 : Opening stock 2000kg@f 5 each

March 3 : Issued 1500 kg

(1^)

March 4 : Purchased 4500 kg @ f 6 each

(^)

March 7 : Issued 1600 kg
(1^)

March 8 : Return by production 100 kg
department
(Issued on March, 3)

(3

March 15 : Purchased 2400 units @ 6-50 each
(^)

March 18 : Return to supplier 200 units
(Purchased on March, 4)

(4 "55#s IfR
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March 24 : Purchased 1,000 units @ ? 7 each

(^)

March 26 : Issued 2100 units

(1^)
March 27 ; Purchased 1200 units @ ? 7-50 each

(^)

March 31 : Issued 2800 units

(1^)

From the above information prepare

Storage Ledger by applying FIFO method.

FIFO ^1%

(d) What is meant by labour turnover ?
What would be possible effects of labour

turnover on the cost of production ?

Explain. 2+8=10

(?^ -^ft^

(e) Following are the information related

to earning of a worker for a week:

VS?|^\S g

Weekly working time 48 hours
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Hourly wage rate ^ 7-50

Rate per unit ^ 3-00
£ft% c^rfs^ ̂

Normal time taken 24 minutes

per unit

2(1%

Normal output per week 120 units
^

Actual output per week 150 units
(21^ 2(f^

Calculate the earning of the worker for

a week under —

^5^ IWl W®! 2£tiWSR^

(i) straight price rate

(ii) Halsay premium scheme

(Hi) Rowan premium scheme

CRRH <3^(1^
2+4+4=10
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(f) What is meant by machine hour rate ?

Mention the steps required to compute

machine hour rate. 2+8=10

^ « 1% fsff ? TO ̂

(g) A product passes through two processes.

The output of process I becomes the

input of process III and the output of

process II is transferred to warehouse.

The quantity of raw materials introduced

in to process I is 20,000 kg. The cost

and output data for the month of

January 2024, review as under:

^

^ I ^

fwk C#5T

%f(:4 ^ ̂

-sfclj •5}^ ̂ sTSKte^ ^ I Kt'JiR

sifendM cwf sm 20,000 ̂ ^2fm

2024 TO m ^ S
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Process I Process II

Direct materials ? 60,000 f 40,000

Direct labour f 40,000 f 30,000

3^ sra

Production overhead f 39,000 f 40,250

Normal loss 8% 5%

Output 18,000A:g( .17,4001cg

Loss realisation ? 2 per unit ? 3 per unit

The company fixes selling price on end
product at a margine of 20% on cost. Prepare
the Process Account and determine the

selling price per unit.

20% flfo ^
^TNT I SflSRIt

2t1% ^oiJ I
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(h) Following are the summary of
transactions obtained from the costing
records of Sri Ram India Limited:

\55^ ^

CWfiPT^ twf ̂  2

Purchase f 2,00,000

Production wages paid f 70,000

2f?R

Stock issued to production order ? 80,000

Works expenses charged
to production ? 45,000

Finished goods transferred
from production orders ? 2,22,000

Administrative expense charged

to production ? 15,000

m

Work expenses outstanding f 12,100
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Work expenses paid ? 25,000

^ m stwR

Pass Journal entries for the above
transaction under integral system of
accounting.

>5rtCW
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